EARAROBREBRT —5 XN—ZXBISH—F

2023F1287H (A 14EXH4H

SR EES

C2\E

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 10000 =

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S5z~ s 3 | BHE 1:45.3 1-1-1-1 | 41.3] - 5 | 423 | KRB0t ki)
11813/ EZ>A 54.0 =) @1 | JExE
R:EYIT7—Y— B:UFv—5 ERRIS
R N Fos I -45. —f—d— X — {ERIDAD (1NHE)
7 : BEZPAS S AR e | T Yl B
Riv IRy s §:739 mINZ7—L4
s )3 4 3 | EME 1:45.5 10-10-5-4 | 41.1| - 6 436 | FREAE (KFH)
307l Y YYa7 5.0 a7 ) |YTFYT RRIAVE W)
RiFIVUISvo BHYYITITU— BHT7—L
~, = o P REEZ : -11-12- - At (KH)
N ;- BB F= s v 5 SER 1(.14/52.)6 11-11-12-12| 40.2 2 (4_332) JHELIL
RiAWTT—II B:RDVVYIT “RBT77—L
. g 146. -13-13- . - WMEFR (KH)
5|84l LT TILAU AR B S T | S
RIRIVIAT4wIO+UT7— B:ZRAR—1— -
= o S BEEE :46. = . - BB (KH)
s 7o7-rv7> Rl | g | ee - e e
R:iSTU—FA B:XALY3URA0O PFHOKS
= on, — REEF— : -9-8- - IITEE (KH
79| IV ITNYT 4 e 20 e (AR R ’ f; gy
R:O—IRAIAA BFIVE—T 41— L—2RR—2H5
F= . 57 - FREEE (K3
817]12 Fa—rUZR 4 5 T 1'?163'6 4-5-7-7 | 42.2 9 (4+619) %ﬁ{gu—r’
RFVVvH/FEE BHALUYREYT 4RIV =B
— e 4 3 | AHIEE 1:47.1 8-8-10-10 | 42.0| — 10 | 488 |HPIEA (IVH)
RIIZRT—LYF— B:AAZSA RS
» £ 5 | BBXS 1:47.5 3-3-6-8 | 43.2| — 7 494 | EHPIEA (iR
1057 | FUILE 56.0 ) 1) | HEHE
RiFA IR v— B:AVTa—Y /=Y Tr—1I
3y W — it 3 | BNERA 1:48.2 5-4-9-6 | 43.4| — 8 43 | EEZ (OKH)
1180 2 | Y21LvyTRY 54.0 31/2) #2) B
RS /IR B9/ VabvDS ERIY R
S ), — 2 3 | BEXK 1:48.2 12-12-11-13| 43.0 | — | 12 | 533 |MEEE KH)
120111 2JIL—X 56.0 F92) 3 |=E#E—
RiFUEYR B4 IFbUvay hiE &
\ o3 | BREX 1:48.3 7-7-3-5 |44.3| — | 13 | 427 |BEE@E= KH)
13N 10| 7V A A53.0 1) ) | B Bus
R:ID—=)VRI—R B:IVFURT— RIS
S N BB - - - - - BAEE ()W)
|5 8| ¥VY—TUr—=V # S 5.0 B4 (4+71(; HERS
R:FI/VIv—0 B:HIFvo YYNIIYTIT7— L
@ 11— —BRIEfI
10—7+— 13,5,7,12,2,6,10,4,9,11,3,1,14
20— — 13,5,7,2,12,6,10,4,9,11,3,1,14
30—7F— 13,5,10,6,11,7,12,9,2,4,1,3,14
40—F— 13,5,6,11,10,2,12,7,9,4,14,3,1
0 ILRE
BB 13 1,170 JA R 6-13 1,140 & 4-8 940 3ER 6-11-13 16,850/
B B 13 400 11-13 1,770 B 8-4 3,480M 3Es 13-6-11 111,740H
6 330 6-11 1,980 5 & 6-13 4,580/
1 410 =51 13-6 10,780

ABIC OV TRUTEREERRODDZE. THRIIZEL.




